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QUESTION 1

You are configuring an AMS 2000 system to be part of a HCP 500 appliance solution. Which types and numbers of
LUNSs are required per HCP node as a minimum configuration?

A. two OS; two data LUNs
B. one OS; two data LUNs
C. one OS; one data LUN
D. two OS; two data LUNs

Correct Answer: B

QUESTION 2
What is the required zone configuration of a SAN fabric to support a HCP 5007
A. one global zone containing all HCP nodes World Wide Port Names (WWPN) of the HBA ports and the storage ports

B. one zone per HCP node containing two members: World Wide Port Names (WWPN) of the HBA port and the storage
port

C. two mirrored zones; one containing the even numbered World Wide Port Names (WWPN) of the HBA port and the
storage port; the other containing odd numbered ports

D. two zones: one zone containing all HCP nodes World Wide Port Names (WWPN) of the HBA ports and the second
zone containing all the storage ports

Correct Answer: B

QUESTION 3

A customer has implemented a HCP within their data center. They want to be able to back up the default tenant to VTL
locally. What should be enabled on the HCP to allow this type of backup?

A. HDPS
B. NTMP
C. HCPB
D. NDMP

Correct Answer: D

QUESTION 4
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Your customer wants to use IP addresses which conflict with the default HCP network settings. As a result you need to
change the back-end IP addresses for each HCP node. Which HCP network settings should you change?

A. the back-end gateway router IP address

B. the back-end subnet mask

C. the first three octets of the back-end IP addresses
D. the fourth octet of the back-end IP addresses

Correct Answer: C

QUESTION 5

A customer wants to enhance the value of their HCP system and is investigating the use of chargeback reporting based
on usage patterns. What are three business benefits of implementing this feature? (Choose three.)

A. increased performance

B. efficient bandwidth allocation
C. improved security

D. accurate usage charging

E. optimized storage allocation

Correct Answer: BDE

QUESTION 6

A customer has an existing HDS archiving solution and has added a new HCP 4.x platform at a remote location. They
have taken the replication option as part of the solution. However, attempts to get replication working between the two
systems fails. What is the reason?

A. The distance between the two archive platforms is too far for replication.

B. The two archive platforms are not configured with matching nodes and disks.

C. The two replicated platforms are not running identical versions of software.

D. The original archive platform is running a version of software prior to 3.x.

Correct Answer: D

QUESTION 7

Several tenant owners have informed you that within three months they want to access their respective HCP tenant
namespaces using CIFS or NFS. What should you do to accommodate their request?
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A. Propose to use the Hitachi Data Ingestor.

B. Write a custom Linux application that interfaces with the HCP using REST.

C. Migrate the HCP tenant namespace to a default tenant then enable CIFS and NFS.

D. Migrate the HCP tenant namespace to a default tenant then enable NTFS and HTTPS.

Correct Answer: A

QUESTION 8

What is the correct combination of HBA parameter settings for a HCP 500 SAN implementation?
A. boot BIOS enabled, topology set to fabric point-to-point

B. boot BIOS disabled, topology set to fabric point-to-point

C. boot BIOS enabled, topology set to FC-AL

D. boot BIOS disabled, topology set to FC-AL

Correct Answer: A

QUESTION 9

What does a configured HCP 500 node use for booting?
A. It uses an internal IDE hard drive.

B. It boots the LU N from SAN.

C. It boots from a network using BOOTP.

D. It uses a special boot sector from flash memory.

Correct Answer: B

QUESTION 10

Your customer wants a HCP 300 to be configured to provide maximum redundancy. Which data protection level do you
recommend?

A.DPLO
B. DPL1
C. DPL10

D. DPL2
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Correct Answer: D

QUESTION 11

How long are internal logs kept on a HCP node?
A. 7 days

B. 35 days

C. 90 days

D. indefinitely

Correct Answer: B

QUESTION 12

Which two statements describe the HCP offline upgrade procedure? (Choose two.)
A. An upgrade must start with a healthy system.

B. The customer can read but cannot write data during the upgrade.

C. Nodes come-up in read/write mode after the reboot.

D. Nodes automatically reboot during the upgrade.

Correct Answer: AD

QUESTION 13

As a HCP 4.x administrator, you are asked to enable the CIFS and NFS protocol for the default namespace. Which

console should you use to perform this task?
A. the HCP Tenant Management Console

B. the Default Tenant Management Console
C. the System Management Console

D. the Data Access Account Console

Correct Answer: B

QUESTION 14

Which three replication types are supported by HCP? (Choose three.)
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A. chain

B. many-to-one
C. one-to-many
D. bidirectional
E. link level

Correct Answer: ABD

QUESTION 15
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Which username/password pair do you use to log into the HCP System Management Console for the first time?

A. admin/hds

B. security/Chang3Me!
C. hcpadmin/hcpadmin
D. root/hitachll

Correct Answer: B
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